/
tXVCfbes:

') Lg;nL (O) ?.'N_)sw denvte e )n"e/././( {0():(1172

67(/”@1 u){‘H\ ‘HIG/ S'/?:Jari {B/O/Q?)t)
d’ let (0,177)3 derote fle  same se/‘lL eZu"/feﬂ

u.‘#’\ the Saéy«e -{-Df'/ﬁ)' xr,’sl‘nj p/\am {le M.ov/

:,‘ (0} 27)8 —_— //2?.
(I & — > (S,’/\z[-e)as(é)) s;ng/é))

N\

g
:

Shes ot Yo fﬂex\;'l-/v rcp (o} 2/7)8——7(0,27)5;.1
+

> L

,(L-O.. ki o g‘C ;,
A T

s at con+l\nuods ,



Z) P{*oue, 'H\4+ ‘Il A.e. 'F.MJ“I‘M

(=)= Ec fr x>0

0 - xco

i€ con +ia vous,

3) ACMVeniezﬂL uJAy o‘F Co s?lfuc‘)l'inj fur'(-\ue.s (s
-H"NJJL -3/—‘/;”3 );“Jf"“s. Fo(‘ in:+¢—:ct’ 'H«n_ ‘Fns//ouli:;] jlu}/\ﬂ

J?‘Jramx (‘q,/m._sgqf' a +6/‘d$ MJ A /(/e}a Lo'Hle.) reqycd'f\’vt,y:
EJJQ’S wH f—Le, SAM~ [AL:I &re ')Lp be JI"J) w.‘-)'{\ +he

Ocieq 'l""+/'0/' indl cated A}/ ‘{'t\.c— Grrov:

BN,

US"\J 3/./{":[ J«‘aarms, expla:n et A+ is passible.  Fo
ct tha klea bottle ;,lo«j a cirdde o svch a way
fht Hio cecoly  socfee s

«) « cylinder (with hus bovedlory crcles)

'a) o Msbius s-)Lm/ or

) fo Msbios steips



L’) T/\e_ Space QJO a:P-Féno. [t1es ia R* hu an
atles g ves 197' the pre of coordimate cherts

U ="Nr vehical lines’ —E— [R”

: jy=axsbl — (ab)elR*

\[: ‘n""t‘df}zaﬂ'f-(} JA\ACS, ’L'L = {EL
1{’,’ Ek:cyi'alj —_— (C;j)c‘kz

Wb Fraastton rMags Zp,lﬁ_f- (“;L) —2 (cba’T)A: :%)
§ @.Y(cd) =

Da:kf‘m'\?e. ulm-‘CL ‘S')quaﬂ»e Sor (-‘-nze) ‘(/Le_ resa)}"’a‘nj
/‘1447)04/4 s (Q;S’ (Sfleﬂe)_, (I_ws)) ‘Mol sos S)‘f/"j 'cy/r?v(fel", d‘C)
Zi. ekF/¢7n wlvy,



g) Le:)’ N:'(@}...A)D/i)ékﬁl be the 'north po/e‘
i (0, H.IO/‘1> be 'H"-— (So\)'}'l\ /alc’ a'F 'H\.z sf‘@hc.

S= ? (xf—--/"oéﬂzmi (e #x) =44
CDQ-[:M;- st‘zmg,\quc f’N\S"‘:\"\“ & S"\iuf—p [Rh [47
o (<5<
\ - x"

d let &=a(x) R weS'\{.
a—) Show that 5 s k! yective ard

)= )
QA) - _‘_@A) + 1

L) CDM/a‘f‘e— 'H\b '(’(“AS ‘/'IM MAP O‘od’ ‘_,MQ \fe,r'.\c)/ -H«d-
‘H«e +uo atl¢r+s (S \?”.{ C)') 0\*‘0 (S \Es‘i ;)

ad detie  aa <‘H¢S on Sn‘

Gre cov‘J‘.“/Q

c) \/@(‘) Py "[1»{' wl« aP 'H«—Sc- olhzr"'s ale cw/a}{é/z
w&‘}’l\ H—g, nes e jue. " o(a—isf (u’i (et)
Wt o) exmof @2, 0 )als oo )

)//)



